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Pick up all of the robots from the game board. Start on the B circle.  Do not pick up your pencil.  
Draw a line going left, right, up, or down.  Every line must end on a robot or the E circle.  No 
stopping on an empty box.  Try to collect all the robots and finish your last line on the E circle. 
You can go through a robot more than once.

B

E

Didn't get them all?  That's ok.  This was hard.
I missed circle(s).
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

Round 9,509 to the nearest 
thousand.

What is 50% of 378? It was 5 degrees above 
zero in the morning.  By 
afternoon the temperature 
rose 23 degrees.  How 
warm was it?

Round the decimal 0.355 to 
the nearest hundredth.

10 - 7 + (2 + 9) Yummy Donuts gave two 
dozen chocolate donuts 
and five dozen jelly donuts 
to the school.  How many 
donuts did they give?

35,  40,  45,  ,   55,  

60,  65,  70

It was 3 degrees below 
zero in the morning.  By 
afternoon the temperature 
rose 15 degrees.  How 
warm was it?

A toy car can go 4 mph.  
How long would it take to 
go 12 miles?

18 5
12

,  21,  23 7
12

,  26 1
6

,  

28 3
4

,  31 1
3

,  33 11
12

,  

,   39 1
12

,  41 2
3

,  

44 1
4

,  46 5
6

12,  14,  ,   18,  20,  

22,  24,  26

How many meters are 
there in 72 kilometers?
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Spin again. I needed to spin time(s) to finish.

38,  57,  ,   95,  114,  

133,  152,  171,  190,  209

42 + n = 58 72 divided by 9 equals

The area of a rectangle 

is 30 cm2 .  What could 

the length of the 4 sides 

be?

12 x 6 + 2 How much money is 1 
quarter, 9 dimes, 1 nickel, 
and 1 penny?

How many centimeters in 
6.4 meters?

What is the area of a 
rectangle with sides 3 cm 
and 6 cm?

The perimeter of a 
rectangle is 18 cm.  The 
longer side is 5 cm.  How 
long is the shorter side?

3 2
3

 + 8 1
3

Write 5
10

 in lowest terms.
The radius of a circle is 705 
cm.  What is the diameter 
of this circle?
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Last year Mr. Smith 
planted corn on 4.3 
acres of his farm. His 
neighbor planted 2.5 
times as many acres of 
corn. How many acres 
of corn did Mr. Smith's 
neighbor plant?

There are 13 pages 
about D-Day in 
Amanda's book. There 
are some pages about 
D-Day in Eric's book, too.
There are 29 pages 
about D-Day in all in the 
two books. Write an 
equation and solve it to 
find out how many 
pages about D-Day are 
in Eric's book.

Mr. Lee bought 2 3
4

 

pounds of ham to make 

sandwiches for Police Week 

lunch in the park. The ham 

cost $3.49. What was the 

cost of the ham per pound? 

(Round your answer off to 

the nearest cent.)

How many digits are in the 
number of days in the 
current month?

3 4
+ 4 1

Anne was given five numbers:  13,  15,  8,
9,  and  14.  She needs to use two of 
these numbers to make a fraction.  
Can she make a fraction that is less 
than five-sixths?

1 km = 1,000 m

13 km = m
(5 + 7) + 4 = 9 4

- 8 0

4 5 3
- 3 3 0
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6 4 2 = 7 - 2 + 6 = 2 + 6 1 4 3
4 9 4 9

Use the pieces above to help you fill in the runaway math puzzle.

Circle the digit in the hundredths place.

738.11

How many millimeters are in 7 centimeters?

 millimeters

4 x 8 = 

Circle the correctly spelled words.
function, stilness, information

7 - 5 = -

+

6

0 + + 3 5

1 1

2 2 = 0 - 0

8 5

= + 8 + 7 = 1 6

9 1

7 + 7 = 1 2

4 +

- 1 = 3 - 0

3 5 6

= =

4 9

- 9 = 8 - 8

4 6
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Sudoku Sums of 14
Each row, column, and box must have the numbers 1 through 9.
Hint: Look for sudoku sums.  The sum of the two boxes inside of the 
dashed lines is 14.

Here is an example of a sudoku sum of 14: 11 3

7 9 1

6 5 3 2

8 3

6 5 4

3 9 2 1 6 4 8

4 1

9 1 6 8 3

8 6

4 6 9
+ 2 6 0

Write the missing family fact.

21 x 8 = 168
168 ÷ 21 = 8
168 ÷ 8 = 21

6 cm = mm

word root ism can mean doctrine capitalism, communism
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8 = 7 x 7 1 8 4 8 ÷ 8 = 6 2 1 ÷ 7
9 5 2

Use the pieces above to help you fill in the runaway math puzzle.

Can 803 be evenly divided by 11? Circle:
803 is NOT evenly divisible by 11
803 is evenly divisible by 11

David invented a robotic bug.  The bug 
can crawl three centimeters in nineteen 
seconds.  How long would it take the bug 
to crawl twenty-three centimeters?

For 6,951,130,202, write the 
digit that is in the ten 
thousands place.

Write this as a number in standard form.  
Use a comma in your number.

five hundred seven thousand five hundred 
ninety-two

3

3 x 1 3 ÷ 2

3 3 1 x

= 0 0 = 0 0

2 7 ÷ 6 = 3

4 = 4

9 9 = 1 5 7

8 x

÷ 8

2 ÷ = 3 =

=

x 8 = 1 6

https://www.mathworksheets.com


Name:
Week of June 19
MathWorksheets.com

Multiply

11 x 11 = 3 x 8 = 1 x 3 = 11 x 7 =

0 x 8 = 5 x 7 = 10 x 10 = 9 x 6 =

5 x 4 = 3 x 10 = 2 x 2 = 4 x 6 =

12 x 12 = 6 x 5 = 4 x 9 = 7 x 8 =

6 x 9 = 2 x 12 = 5 x 4 = 1 x 9 =

0 x 8 = 2 x 10 = 7 x 7 = 9 x 3 =

5 x 12 = 11 x 2 = 11 x 2 = 3 x 3 =

12 x 2 = 7 x 10 = 3 x 5 = 6 x 6 =

9 x 9 = 4 x 8 = 11 x 10 = 6 x 1 =

12 x 4 = 0 x 10 = 5 x 8 = 11 x 8 =

9 x 8 = 7 x 10 = 12 x 1 = 3 x 4 =

0 x 4 = 2 x 7 = 11 x 6 = 11 x 12 =

5 x 4 = 5 x 8 = 11 x 10 = 12 x 7 =
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In a game that Megan plays, it costs 
$0.90 to purchase three gold stones.  
If she buys two gold stones and one 
purple diamond, the cost is $1.53.
How much is one gold stone?
How much is one purple diamond?

One gold stone costs ________.

One purple diamond costs ________.

Connor got 2 personal pizzas. He cut 
his pizza into 6 equal slices and then 
ate 4 slices. He gave the other pizza 
to Anne.  She cut her pizza into 7 
equal slices and then ate 5 slices.
Draw a picture of each pizza.

Who ate the most pizza?

Which amount of time is shorter?
 
8 hours or 590 minutes?
 
 
 
 
7 hours or 490 minutes?
 
 
 
 
180 seconds or 8 minutes?

1 hour = _____ minutes

1 minute = _____ seconds

Which event will be the first to end?
 
Jacob plans to ride his bike to Robert's 
house at 3:05 p.m.  They will play 
video games for 1 hour and 45 minutes.
 
Jessica works at the mall. Her shift 
starts at 2:48 p.m. and will last 1 hour 
and 50 minutes.
 
April has soccer practice that starts at 
3:02 p.m. and lasts for 1 hour and 25 
minutes.

https://www.mathworksheets.com


Name:
Week of June 19
MathWorksheets.com

ACROSS

3. 6-Down plus 8-Down

5. Nine less than 8-Down

7. 8-Down plus 4-Down

9. Five more than 13-Down

10. Three more than 11-Across

11. Three more than 15-Across

13. Nine less than 3-Across

14. 1-Down plus 4-Down

15. Five more than 4-Down

16. Seven less than 7-Across

DOWN

1. 11-Across plus 4-Down

2. Six more than 6-Down

3. 5-Across plus 6-Down

4. One less than 8-Down

6. Three less than 5-Across

7. 6-Down plus 4-Down

8. Nickels in ten dollars
12. One more than 10-Across

13. Five more than 7-Down

1 2 3 4

5 6

7

8

9 10

11

12 13

14

15 16

Rose wants Erin to guess a three digit 
number.  She tells Erin that her number 
has three different digits.  The digits are 3,
1,  and 5.  Erin thinks.  She then guesses 
the number 153.  What are the chances 
that Erin has guessed correctly?

32 ÷ 4 = 
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Write the final part of each math analogy.

July 3rd : Friday :: August 3rd :

Explain why you think your answer is correct.

16 groups of 9 : 8 groups of 18 :: 9 groups of 14 :

Explain why you think your answer is correct.

CCKCCKCCKC____ : C :: HFFHFFHFFH____ :

Explain why you think your answer is correct.

one sixth of twelve : 2 :: one fourth of twelve :

Explain why you think your answer is correct.

FBFBF____ : B :: DCDCD____ :

Explain why you think your answer is correct.

987 : 997 :: 553 :

Explain why you think your answer is correct.
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+ + =

+

=

48

54

? 36 29

A C B

C C C

Each letter is a whole number.

Fill in the equations using the chart:

C + C = 36 C + C + = 54 + + = 48

+ = 29
Additional hints:

A < 24 C = B + 7

Equations and Hints:

? =

Solve:

Show Work:
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